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GIVEN

A, Ag, Tg Rg
A As, T, R
AL Ag, R Rg
4 45, Ts R
A Ag T Rg
AL Ag T, Tg
AT Tg Rg
AT Tg RL
4,Tg R_ Rg

4, T RL,Rg

SOLUTION

Ts SinaA - Rg Versa |

R = R
L vers 4 s
Rg - TL Sind- R vers A ‘R
Vers Ag
T R Vers A - Sin A
L (RL- Rg) Verslg
R Tg Sind - R Versd
S Vers A - Vers A
R Rg VersAg - Tg Sin A
L VersAg - Vers A
Re - Tg Sin A - tan Yo AL (T +TS cos A)
£ Vers A - Sin A tan /o A
T i - R
Tan Y, Bp - S Sin d S Versl A
TL+ TS cosA - Rg Sin 4
Ry Versd - TL SinA
Tan o bg - L_
R Sinld - T cosh-Tg
Ry - T i -R
Cos &, - L S SinA S cos A
RL- Rg
- T ;
Vers Ag - RL Vers A L Sin A

R_L- Rsg
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Rg -
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LEGEND

Point of Curvature

- Point of Compound Curvature

Point of Tangency
Radius of Major Curve
Radius of Minor Curve
Long Tangent

Short Tangent

Total deflection Angle of the
Compound Curve = 4|+ Ag

Deflection Angle of
Major Curve

Deflection Angle of
Minor Curve

1- cos
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FIGURE C-7-5 COMPOUND CURVE COMPUTATIONS"





